Schriftl. Rechenverfahren Lösungen

	a)
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208
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304
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	c)
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	1 090
	
	1 490
	
	5 483
	
	60 741



	a)
	3 4 1
1 1 1
7 0 3
+ 4 0 4
	b)
	1 4 2 6
4 2
3 1 0
+ 1 0 2 1
	c)
	4 5 8
1 0 1 2
3 1 2 0
+   4 0 2
	
	

	
	1 5 5 9
	
	2 7 9 9
	
	4 9 9 2
	
	



	a)
	1 245
– 1 098
	b)
	13 637
–     986
	c)
	145 756
–  99 638
	d)
	1 000 204
–     12 958

	
	147
	
	12 651
	
	46 118
	
	987 246

	
	
	
	
	
	
	
	

	a)
	7 7 9
– 1 2 3
	b)
	 7 4 9
– 4 3 3 
	c) 
	 6 8 5 
– 4 3 5
	d)
	3 7 8
– 1 2 3 

	
	6 5 6
	
	3 1 6
	
	2 5 0
	
	2 5 5



